IMocTpoenne rpaduxoB pynknuii B Excel:

. [locTpouTh B 0JHOM cHCTEeMe KOOPAMHAT Ipa@uKH CJAeAYIIUX PyHKIMMA:

1. 'Y =aCos(x); Z =b Cos *(2x) npu Xe [-2;2], Ax=0,2

2. Y = aSin(nx) — a Cos(nx); Z = Cos*(2nx) — gSin(nx), npu xe [-1,8:2], Ax=0,25
3. Y = aSin(nx)- Cos(3nx); Z = Cos(2nx) — bSin*(nx) , npu Xe [-3;3,4], Ax=0,8
4. Y = gSin(2nx)Cos(nx)—Cos*(3nx); Z = qCos*(2nx)-Sin (3nx), mpu xe[-1,1], Ax=0,05

5. Y = aSin(nx)Cos(nx); Z = Cos*(nx)Sin(smx), npu Xe [0;4], Ax=0,4

6. Y =sSin(3nx)Cos(2nx); Z = Cos*(qnx)Sin(nx) , npu Xe [-3;0], Ax=0,3

7. Y = aSin(2nx)Cos(4nx); Z = Cos %(brx)-Cos(nx)Sin(nx) , npu Xe [-3,3;0,9], Ax=0,3
8. Y = Sin(jnx)+bSin(2nx)Cos(3nx); Z = Cos(nx)- Cos(dnx)Sin (nX), npuxe [0;2], Ax=0,1
9. Y = Cos(anx)Sin(mx)+qSin(3nx)Cos(2nx); Z = Cos *(1x)-Cos(anx), npu xe [0;3], Ax=0,2
10. Y = me(an)Cos(nx)+Sm(nx) Z = Cos (anx)Sin’(nx)-Cos(4nx), npu xe [0;2], Ax=0,1
11. Y = aCos(x); Z = b Cos % (2x), nipu Xe [-2;2], Ax=0,2
12.Y = aSin(nx) — a Cos(nx); Z = Cos*(2nx) — gSin(nx), npu Xe [-1,8;2], Ax=0,25
13. Y = aSin(nx)- Cos(3nx); Z = Cos(2nx) — bSin®(nx) , npu xe [-3;3,4], Ax=0,8
14. Y = gSin(2nx)Cos(nx)—Cos*(3nx); Z = qCos*(2nx)-Sin (3nX), mpu xe[-1,1], Ax=0,05
15.Y = aSin(nx)Cos(nx); Z = Cos*(nx)Sin(snx), npu Xe [0;4], Ax=0,4

16. Y = sSin(3nx)Cos(2nx); Z = Cos*(qnx)Sin(nx) , npu xe [-3;0], Ax=0,3
17.Y = aSin(2nx)Cos(4nx); Z = Cos *(bnx)-Cos(nx)Sin(nx) , pu Xe [-3,3;0,9], Ax=0,3

18.Y = Sin(jnx)+bSin(2nx)Cos(3nx); Z = Cos(nx)-Cos(dnx)Sin*(nx), npu xe [0;2], Ax=0,1
19. Y = Cos(anx)Sin(nx)+qSin(3nx)Cos(2nx); Z = Cos *(nx)-Cos(anx), npu xe [0;3], Ax=0,2
20. Y = fSin(2nx)Cos(nx)+Sin(nx); Z = Cos (anx)Sin*(nx)-Cos(4nx), mpu xe [0;2], Ax=0,1

21.Y = aCos(x); Z = b Cos ?(2x) , npu xe [-2;2], Ax=0,2
22. Y = aSin(nx) — a Cos(nx); Z = Cos*(2nx) — gSin(nx), npu Xe [-1,8;2], Ax=0,25
23. Y = aSin(nx)- Cos(3nx); Z = Cos(2nx) — bSin(nx) , npu xe [-3;3,4], Ax=0,8
24. Y = qSin(2nx)Cos(nx)—Cos*(3nx); Z = qCos*(2nx)-Sin (3nX), npu xe[-1,1], Ax=0,05
25. Y = aSin(nx)Cos(nx); Z = Cos*(nx)Sin(smx), npu xe [0;4], Ax=0,4

26. Y = sSin(3nx)Cos(2nx); Z = Cos*(qnx)Sin(nx) , npu xe [-3;0], Ax=0,3
27. Y = aSin(2nx)Cos(4nx); Z = Cos 2(brx)-Cos(nx)Sin(nx) , mpu X< [-3,3;0,9], Ax=0,3

28. Y = Sin(jnx)+bSin(21x)Cos(3nx); Z = Cos(nx)-Cos(dnx)Sin*(nx), npu xe [0;2], Ax=0,1
29. Y = Cos(anx)Sin(nx)+qSin(3nx)Cos(2nx); Z = Cos %(nx)-Cos(anx), mpu xe [0;3], Ax=0,2
30. Y = fSin(2nx)Cos(nx)+Sin(nx); Z = Cos (anx)Sin*(nx)-Cos(4nx), npu xe [0;2], Ax=0,1
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Il. HocTpouts rpadukm ciaeayromux GpyHKumii:
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